

**ON A CERTAIN SUBCLASS OF ANALYTIC FUNCTIONS WITH  
NEGATIVE COEFFICIENTS AND DEFINED BY SĂLĂGEAN  
OPERATOR**

M.K. AOUF, A.O. MOSTAFA, W.K. ELYAMANY

**ABSTRACT.** The object of the present paper is to derive several interesting properties of the class  $C_n(\lambda, \alpha)$  consisting of analytic univalent functions with negative coefficients by using Sălăgean operator. Coefficient inequalities, distortion theorems and closure theorems of functions in the class  $C_n(\lambda, \alpha)$  are determined. Also radii of close to convexity, starlikeness and convexity for are determined. Furthermore, integral operators and modified Hadamard products of several functions belonging to the class  $C_n(\lambda, \alpha)$  are studied her.

2010 *Mathematics Subject Classification:* 30C45.

*Keywords:* Analytic, Hadamard product, Integral operators, fractional calculus.

1. INTRODUCTION

Let  $\mathcal{A}$  denote the class of functions of the form

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k, \quad (1.1)$$

which are analytic and univalent in the unit disc  $\mathbb{U} = \{z : |z| < 1\}$ . For a function  $f(z)$  in  $\mathcal{A}$ , let

$$\begin{aligned} D^0 f(z) &= f(z), \\ D^1 f(z) &= Df(z) = zf'(z), \end{aligned}$$

and

$$D^n f(z) = D(D^{n-1}f(z)) \quad (n \in \mathbb{N} = \{1, 2, \dots\}),$$

$$= z + \sum_{k=2}^{\infty} k^n a_k z^k \quad (n \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}). \quad (1.2)$$

The differential operator  $D^n$  was introduced by Salagean [5]. With the help of the differential operator  $D^n$ , we say that a function  $f(z)$  belonging to  $\mathcal{A}$  is in the class  $K_n(\lambda, \alpha)$  if and only if

$$Re \left\{ \frac{(D^n f(z))' + z(D^n f(z))''}{(D^n f(z))' + \lambda z(D^n f(z))''} \right\} > \alpha \quad (n \in \mathbb{N}_0), \quad (1.3)$$

for some  $\alpha$  ( $0 \leq \alpha < 1$ ),  $\lambda$  ( $0 \leq \lambda < 1$ ) and for all  $z \in \mathbb{U}$ .

Let  $T$  denote the subclass of  $\mathcal{A}$  consisting of functions of the form

$$f(z) = z - \sum_{k=2}^{\infty} a_k z^k \quad (a_k \geq 0). \quad (1.4)$$

Further, we define the class  $C_n(\lambda, \alpha)$  by

$$C_n(\lambda, \alpha) = K_n(\lambda, \alpha) \cap T. \quad (1.5)$$

We note that by specializing the parameters  $n$ ,  $\lambda$ , and  $\alpha$ , we obtain the following subclasses studied by various authors:

- (i)  $C_0(\lambda, \alpha) = C(\lambda, \alpha)$  (Altintas and Owa [1]);
- (ii)  $C_0(0, \alpha) = C(\alpha)$  (Silverman [8]);
- (iii)  $C_n(0, \alpha) = C_n(\alpha) =$

$$Re \left\{ 1 + \frac{z(D^n f(z))''}{(D^n f(z))'} \right\} > \alpha \quad (n \in \mathbb{N}_0, 0 \leq \alpha < 1 \text{ and for all } z \in \mathbb{U}).$$

## 2. COEFFICIENT ESTIMATES

Unless otherwise mentioned, we assume throughout this paper that

$$0 \leq \alpha < 1, 0 \leq \lambda < 1, n \in \mathbb{N}_0 \text{ and } z \in \mathbb{U}.$$

**Theorem 1.** Let the function  $f(z)$  be given by (1.6). Then  $f(z) \in C_n(\lambda, \alpha)$  if and only if

$$\sum_{k=2}^{\infty} k^{n+1} \{k - \alpha[1 + \lambda(k - 1)]\} a_k \leq 1 - \alpha. \quad (2.1)$$

**Proof.** Suppose that (2.1) holds. Then we have

$$\begin{aligned} \left| \frac{(D^n f(z))' + z(D^n f(z))''}{(D^n f(z))' + \lambda z(D^n f(z))''} - 1 \right| &= \left| \frac{\sum_{k=2}^{\infty} k^{n+1}(k-1)(1-\lambda)a_k z^{k-1}}{1 - \sum_{k=2}^{\infty} k^{n+1}[1 + \lambda(k-1)]a_k z^{k-1}} \right| \\ &\leq \frac{\sum_{k=2}^{\infty} k^{n+1}(k-1)(1-\lambda)a_k}{1 - \sum_{k=2}^{\infty} k^{n+1}[1 + \lambda(k-1)]a_k} \leq 1 - \alpha, \end{aligned} \quad (2.2)$$

this shows that the values of  $\frac{(D^n f(z))' + z(D^n f(z))''}{(D^n f(z))' + \lambda z(D^n f(z))''}$  lies in a circle centered at  $\omega = 1$  whose radius is  $1 - \alpha$ . Hence  $f(z)$  satisfies the condition (1.3).

Conversely, assume that the function  $f(z)$  defined by (1.4) be in the class  $C_n(\lambda, \alpha)$ . Then

$$Re \left\{ \frac{(D^n f(z))' + z(D^n f(z))''}{(D^n f(z))' + \lambda z(D^n f(z))''} \right\} = Re \left\{ \frac{1 - \sum_{k=2}^{\infty} k^{n+2} a_k z^{k-1}}{1 - \sum_{k=2}^{\infty} k^{n+1} [1 + \lambda(k-1)] a_k z^{k-1}} \right\} > \alpha, \quad (2.3)$$

for  $z \in \mathbb{U}$ . Choose values of  $z$  on the real axis so that  $\frac{(D^n f(z))' + z(D^n f(z))''}{(D^n f(z))' + \lambda z(D^n f(z))''}$  is real. Upon clearing the denominator in (2.3) and letting  $z \rightarrow 1^-$  through real values, we obtain

$$1 - \sum_{k=2}^{\infty} k^{n+2} a_k \geq \alpha \left\{ 1 - \sum_{k=2}^{\infty} k^{n+1} [1 + \lambda(k-1)] a_k \right\}, \quad (2.4)$$

which gives (2.1).

**Corollary 1.** Let the function  $f(z)$  defined by (1.4) be in the class  $C_n(\lambda, \alpha)$ .

Then we have

$$a_k \leq \frac{1 - \alpha}{k^{n+1} \{k - \alpha[1 + \lambda(k-1)]\}} \quad (k \geq 2). \quad (2.5)$$

The equality in (2.5) is attained for the function  $f(z)$  given by

$$f(z) = z - \frac{1 - \alpha}{k^{n+1} \{k - \alpha[1 + \lambda(k-1)]\}} z^k \quad (k \geq 2). \quad (2.6)$$

### 3. SOME PROPERTIES OF THE CLASS $C_n(\lambda, \alpha)$

**Theorem 2.** Let  $0 \leq \alpha < 1$ ,  $0 \leq \lambda_2 \leq \lambda_1$  and  $n \in \mathbb{N}_0$ . Then

$$C_n(\lambda_1, \alpha) \subseteq C_n(\lambda_2, \alpha).$$

*Proof.* It follows from Theorem 1 that

$$\begin{aligned} & \sum_{k=2}^{\infty} k^{n+1} \{k - \alpha[1 + \lambda_1(k-1)]\} a_k \\ & \leq \sum_{k=2}^{\infty} k^{n+1} \{k - \alpha[1 + \lambda_2(k-1)]\} a_k \leq 1 - \alpha, \end{aligned}$$

for  $f(z) \in C_n(\lambda_1, \alpha)$ . Hence  $f(z) \in C_n(\lambda_2, \alpha)$ .

**Theorem 3.** Let  $0 \leq \alpha < 1$ ,  $0 \leq \lambda \leq 1$  and  $n \in \mathbb{N}_0$ . Then

$$C_{n+1}(\lambda, \alpha) \subseteq C_n(\lambda, \alpha).$$

*Proof.* The proof follows immediately from Theorem 1.

### 4. DISTORTION THEOREMS

**Theorem 4.** Let the function  $f(z)$  given by (1.4) be in the class  $C_n(\lambda, \alpha)$ . Then we have

$$|D^i f(z)| \geq |z| - \frac{1 - \alpha}{2^{n-i+1}[2 - \alpha(1 + \lambda)]} |z|^2 \quad (4.1)$$

and

$$|D^i f(z)| \leq |z| + \frac{1 - \alpha}{2^{n-i+1}[2 - \alpha(1 + \lambda)]} |z|^2, \quad (4.2)$$

for  $z \in \mathbb{U}$ , where  $0 \leq i \leq n$ . Then equalities in (4.1) and (4.2) are attained for the function  $f(z)$  given by

$$f(z) = z - \frac{1 - \alpha}{2^{n+1}[2 - \alpha(1 + \lambda)]} z^2. \quad (4.3)$$

*Proof.* Note that  $f(z) \in C_n(\lambda, \alpha)$  if and only if  $D^i f(z) \in C_{n-i}(\lambda, \alpha)$ , where

$$D^i f(z) = z - \sum_{k=2}^{\infty} k^i a_k z^k. \quad (4.4)$$

Using Theorem 1, we know that

$$2^{n-i+1}[2 - \alpha(1 + \lambda)] \sum_{k=2}^{\infty} k^i a_k \leq \sum_{k=2}^{\infty} k^{n+1} \{k - \alpha[1 + \lambda(k - 1)]\} a_k \leq 1 - \alpha, \quad (4.5)$$

that is, that

$$\sum_{k=2}^{\infty} k^i a_k \leq \frac{1 - \alpha}{2^{n-i+1}[2 - \alpha(1 + \lambda)]}. \quad (4.6)$$

It follows from (4.4) and (4.6) that

$$|D^i f(z)| \geq |z| - |z|^2 \sum_{k=2}^{\infty} k^i a_k \geq |z| - \frac{1 - \alpha}{2^{n-i+1}[2 - \alpha(1 + \lambda)]} |z|^2 \quad (4.7)$$

and

$$|D^i f(z)| \leq |z| + |z|^2 \sum_{k=2}^{\infty} k^i a_k \leq |z| + \frac{1 - \alpha}{2^{n-i+1}[2 - \alpha(1 + \lambda)]} |z|^2. \quad (4.8)$$

This completes the proof of Theorem 4.

Taking  $i = 0$  in Theorem 4, we have the following corollary

**Corollary 2.** Let the function  $f(z)$  given by (1.4) be in the class  $C_n(\lambda, \alpha)$ . Then we have

$$|f(z)| \geq |z| - \frac{1 - \alpha}{2^{n+1}[2 - \alpha(1 + \lambda)]} |z|^2 \quad (4.9)$$

and

$$|f(z)| \leq |z| + \frac{1 - \alpha}{2^{n+1}[2 - \alpha(1 + \lambda)]} |z|^2, \quad (4.10)$$

for  $z \in \mathbb{U}$ , where  $0 \leq i \leq n$ . Then equalities in (4.1) and (4.2) are attained for the function  $f(z)$  given by (4.3).

Taking  $i = 1$  in Theorem 4, we have the following corollary

**Corollary 3.** Let the function  $f(z)$  given by (1.4) be in the class  $C_n(\lambda, \alpha)$ . Then we have

$$|f'(z)| \geq 1 - \frac{1 - \alpha}{2^n[2 - \alpha(1 + \lambda)]} |z|, \quad (4.11)$$

and

$$|f'(z)| \leq 1 + \frac{1 - \alpha}{2^n[2 - \alpha(1 + \lambda)]} |z|, \quad (4.12)$$

for  $z \in \mathbb{U}$ . the equalities in (4.12) and (4.13) are attained for the function  $f(z)$  given by (4.3).

**Corollary 4.** Let the function  $f(z)$  be given by (1.4) be in the class  $C_n(\lambda, \alpha)$ . Then the unit disc  $\mathbb{U}$  is mapped onto a domain that contains the disc

$$|\omega| < \frac{2^{n+1}[2 - \alpha(1 + \lambda)] - (1 - \alpha)}{2^{n+1}[2 - \alpha(1 + \lambda)]}. \quad (4.13)$$

The result is sharp with the extremal function  $f(z)$  given by (4.3).

## 5. CLOSURE THEOREMS

Let the functions  $f_j(z)$  ( $j = 1, 2, \dots, m$ ) be given by

$$f_j(z) = z - \sum_{k=2}^{\infty} a_{k,j} z^k \quad (a_{k,j} \geq 0; z \in \mathbb{U}). \quad (5.1)$$

We shall prove the following results for the class  $C_n(\lambda, \alpha)$ .

**Theorem 5.** Let the functions  $f_j(z)$  ( $j = 1, 2, \dots, m$ ) given by (5.1) be in the class  $C_n(\lambda, \alpha)$  for every  $j = 1, 2, \dots, m$ . Then the function  $h(z)$  defined by

$$h(z) = \sum_{j=1}^m c_j f_j(z) \quad (c_j \geq 0) \quad (5.2)$$

is also in the same class  $C_n(\lambda, \alpha)$ , where

$$\sum_{j=1}^m c_j = 1. \quad (5.3)$$

*Proof.* According to the definition of  $h(z)$ , we can write

$$h(z) = z - \sum_{k=2}^{\infty} \left( \sum_{j=1}^m c_j a_{k,j} \right) z^k. \quad (5.4)$$

Futher, since  $f_j(z)$  are in  $C_n(\lambda, \alpha)$  for every  $j = 1, 2, \dots, m$  we get

$$\sum_{k=2}^{\infty} k^{n+1} \{k - \alpha[1 + \lambda(k - 1)]\} a_{k,j} \leq 1 - \alpha, \quad (5.5)$$

for every  $j = 1, 2, \dots, m$ . Hence we can see that

$$\begin{aligned} & \sum_{k=2}^{\infty} k^{n+1} \{k - \alpha[1 + \lambda(k - 1)]\} \left( \sum_{j=1}^m c_j a_{k,j} \right) \\ &= \sum_{j=1}^m c_j \left( \sum_{k=2}^{\infty} k^{n+1} \{k - \alpha[1 + \lambda(k - 1)]\} a_{k,j} \right) \\ &\leq \left( \sum_{j=1}^m c_j \right) (1 - \alpha) = 1 - \alpha, \end{aligned} \quad (5.6)$$

which implies that  $h(z)$  in  $C_n(\lambda, \alpha)$ . Thus we have the theorem.

Taking  $m = 2$ ,  $c_1 = \mu$ ,  $c_2 = 1 - \mu$  in Theorem 5, we have the following corollary

**Corollary 5.** The class  $C_n(\lambda, \alpha)$  is closed under convex linear combination.

*Proof.* Let the functions  $f_j(z)$  ( $j = 1, 2$ ) be given by (5.1) be in the class  $C_n(\lambda, \alpha)$ . It is sufficient to show that the function  $h(z)$  defined by

$$h(z) = \mu f_1(z) + (1 - \mu) f_2(z) \quad (5.7)$$

is in the class  $C_n(\lambda, \alpha)$ .

As a consequence of Corollary 5, there exists the extreme points of the class  $C_n(\lambda, \alpha)$ .

**Theorem 6.** Let  $f_1(z) = z$  and

$$f_k(z) = z - \frac{1 - \alpha}{k^{n+1} \{k - \alpha[1 + \lambda(k - 1)]\}} z^k \quad (k \geq 2), \quad (5.8)$$

for  $0 \leq \alpha < 1$ ,  $0 \leq \lambda < 1$  and  $n \in \mathbb{N}_0$ . Then  $f(z)$  is in the class  $C_n(\lambda, \alpha)$  if and only if it can be expressed in the form

$$f(z) = \sum_{k=1}^{\infty} \mu_k f_k(z), \quad (5.9)$$

where  $\mu_k \geq 0$  ( $k \geq 1$ ) and  $\sum_{k=1}^{\infty} \mu_k = 1$ .

*Proof.* Suppose that

$$f(z) = \sum_{k=1}^{\infty} \mu_k f_k(z) = z - \sum_{k=2}^{\infty} \frac{1 - \alpha}{k^{n+1} \{k - \alpha[1 + \lambda(k - 1)]\}} \mu_k z^k. \quad (5.10)$$

Then it follows that

$$\begin{aligned} \sum_{k=2}^{\infty} \frac{k^{n+1} \{k - \alpha[1 + \lambda(k - 1)]\}}{1 - \alpha} \frac{(1 - \alpha) \mu_k}{k^{n+1} \{k - \alpha[1 + \lambda(k - 1)]\}} \\ = \sum_{k=2}^{\infty} \mu_k = 1 - \mu_1 \leq 1. \end{aligned} \quad (5.11)$$

So by theorem 1,  $f(z)$  in  $C_n(\lambda, \alpha)$ .

Conversely, assume that the function  $f(z)$  defined by (1.4) belongs to the class  $C_n(\lambda, \alpha)$ . Then

$$a_k \leq \frac{1 - \alpha}{k^{n+1} \{k - \alpha[1 + \lambda(k - 1)]\}} \quad (k \geq 2). \quad (5.12)$$

Setting

$$\mu_k = \frac{k^{n+1} \{k - \alpha[1 + \lambda(k - 1)]\}}{1 - \alpha} a_k \quad (k \geq 2), \quad (5.13)$$

and

$$\mu_1 = 1 - \sum_{k=2}^{\infty} \mu_k, \quad (5.14)$$

we can see that  $f(z)$  can be expressed in the form (5.9). This completes the proof of Theorem 6.

**Corollary 6.** The extreme points of the class  $C_n(\lambda, \alpha)$  are the functions  $f_k(z)$  ( $k \geq 1$ ) given by Theorem 6.

## 6. RADII OF CLOSE-TO-CONVEXITY, STARLIKENESS AND CONVEXITY

**Theorem 7.** Let the function  $f(z)$  defined by (1.4) be in the class  $C_n(\lambda, \alpha)$ .

Then  $f(z)$  is close-to-convex of order  $\eta$  ( $0 \leq \eta < 1$ ) in  $|z| \leq r_1(n, \lambda, \alpha, \eta)$ , where

$$r_1(n, \lambda, \alpha, \eta) = \inf_k \left\{ \frac{(1 - \eta) k^n \{k - \alpha[1 + \lambda(k - 1)]\}}{1 - \alpha} \right\}^{\frac{1}{k-1}} \quad (k \geq 2). \quad (6.1)$$

The result is sharp, the extremal function given by (2.6).



*Proof.* We must show that

$$|f'(z) - 1| \leq 1 - \eta \text{ for } |z| \leq r_1, \quad (6.2)$$

where  $r_1$  is given by (6.1). Indeed we find from (1.4) that

$$|f'(z) - 1| \leq \sum_{k=2}^{\infty} k a_k |z|^{k-1}.$$

Thus

$$|f'(z) - 1| \leq 1 - \eta,$$

if

$$\sum_{k=1}^{\infty} \left( \frac{k}{1 - \eta} \right) a_k |z|^{k-1} \leq 1. \quad (6.3)$$

But by using Theorem 1, (6.3) will be true if

$$\left( \frac{k}{1 - \eta} \right) |z|^{k-1} \leq \left( \frac{k^{n+1} \{k - \alpha[1 + \lambda(k - 1)]\}}{1 - \alpha} \right).$$

Then

$$|z| \leq \left\{ \frac{(1 - \eta)k^n \{k - \alpha[1 + \lambda(k - 1)]\}}{1 - \alpha} \right\}^{\frac{1}{k-1}} \quad (k \geq 2). \quad (6.4)$$

The result follows easily from (6.4).

**Theorem 8.** Let the function  $f(z)$  defined by (1.4) be in the class  $C_n(\lambda, \alpha)$ . Then  $f(z)$  is starlike of order  $\eta$  ( $0 \leq \eta < 1$ ) in  $|z| \leq r_2(n, \lambda, \alpha, \eta)$ , where

$$r_2(n, \lambda, \alpha, \eta) = \inf_k \left\{ \frac{(1 - \eta)k^{n+1} \{k - \alpha[1 + \lambda(k - 1)]\}}{(k - \eta)(1 - \alpha)} \right\}^{\frac{1}{k-1}} \quad (k \geq 2). \quad (6.5)$$

The result is sharp, the extremal function given by (2.6).

*Proof.* We must show that

$$\left| \frac{z f'(z)}{f(z)} - 1 \right| \leq 1 - \eta \text{ for } |z| \leq r_2(n, \lambda, \alpha, \eta), \quad (6.6)$$

where  $r_2$  is given by (6.5). Indeed we find from the definition of (1.4) that

$$\left| \frac{z f'(z)}{f(z)} - 1 \right| \leq \frac{\sum_{k=1}^{\infty} (k - 1) a_k |z|^{k-1}}{1 - \sum_{k=1}^{\infty} a_k |z|^{k-1}}.$$

Thus

$$\left| \frac{zf'(z)}{f(z)} - 1 \right| \leq 1 - \eta,$$

if

$$\sum_{k=1}^{\infty} \left( \frac{k - \eta}{1 - \eta} \right) a_k |z|^{k-1} \leq 1. \quad (6.7)$$

But by using Theorem 1, (6.7) will be true if

$$\left( \frac{k - \eta}{1 - \eta} \right) |z|^{k-1} \leq \left( \frac{k^{n+1} \{k - \alpha[1 + \lambda(k - 1)]\}}{1 - \alpha} \right).$$

Then

$$|z| \leq \left\{ \frac{(1 - \eta)k^{n+1} \{k - \alpha[1 + \lambda(k - 1)]\}}{(k - \eta)(1 - \alpha)} \right\}^{\frac{1}{k-1}} \quad (k \geq 2). \quad (6.8)$$

**Corollary 7.** Let the function  $f(z)$  defined by (1.4) be in the class  $C_n(\lambda, \alpha)$ . Then  $f(z)$  is convex of order  $\eta$  ( $0 \leq \eta < 1$ ) in  $|z| \leq r_3(n, \lambda, \alpha, \eta)$ , where

$$r_3(n, \lambda, \alpha, \eta) = \inf_k \left\{ \frac{(1 - \eta)k^n \{k - \alpha[1 + \lambda(k - 1)]\}}{(k - \eta)(1 - \alpha)} \right\}^{\frac{1}{k-1}} \quad (k \geq 2). \quad (6.9)$$

The result is sharp, the extremal function given by (2.6).

## 7. INTEGRAL OPERATORS

**Theorem 9.** Let the function  $f(z)$  defined by (1.4) be in the class  $C_n(\lambda, \alpha)$  and let  $c$  be a real number such that  $c > -1$ . Then the function  $F(z)$  defined by

$$F(z) = \frac{c + 1}{z^c} \int_0^z t^{c-1} f(t) dt, \quad (7.1)$$

also belongs to the class  $C_n(\lambda, \alpha)$ .

*Proof.* From the representation of  $F(z)$ , it follows that

$$F(z) = z - \sum_{k=2}^{\infty} b_k z^k, \quad (7.2)$$

where

$$b_k = \left( \frac{c + 1}{c + k} \right) a_k, \quad (7.3)$$

therefore, we have

$$\begin{aligned} \sum_{k=2}^{\infty} k^{n+1} \{k - \alpha[1 + \lambda(k-1)]\} b_k &= \sum_{k=2}^{\infty} k^{n+1} \{k - \alpha[1 + \lambda(k-1)]\} \left(\frac{c+1}{c+k}\right) a_k \\ &\leq \sum_{k=2}^{\infty} k^{n+1} \{k - \alpha[1 + \lambda(k-1)]\} a_k \leq 1 - \alpha, \end{aligned} \quad (7.4)$$

since  $f(z) \in C_n(\lambda, \alpha)$ . Hence, by Theorem 1, we have  $F(z) \in C_n(\lambda, \alpha)$ .

**Theorem 10.** Let  $c$  be a real number such that  $c > -1$ . If  $F(z) \in C_n(\lambda, \alpha)$ , then the function  $f(z)$  defined by (7.1) is univalent in  $|z| < R^*$ , where

$$R^* = \inf_k \left( \frac{(c+1)k^n \{k - \alpha[1 + \lambda(k-1)]\}}{(c+k)(1-\alpha)} \right)^{\frac{1}{k-1}} \quad (k \geq 2). \quad (7.5)$$

The result is sharp.

*Proof.* Let  $F(z) = z - \sum_{k=2}^{\infty} a_k z^k$  ( $a_k \geq 0$ ). It follows from (7.1) that

$$f(z) = \frac{z^{1-c} [z^c F(z)]'}{(c+1)} = z - \sum_{k=2}^{\infty} \left(\frac{c+k}{c+1}\right) a_k z^k \quad (c > -1). \quad (7.6)$$

In order to obtain the required result, it suffices to show that  $|f'(z) - 1| < 1$  in  $|z| < R^*$ , where  $R^*$  is given by (7.5). Now

$$|f'(z) - 1| \leq \sum_{k=2}^{\infty} \frac{k(c+k)}{c+1} a_k |z|^{k-1}. \quad (7.7)$$

Thus

$$|f'(z) - 1| \leq 1,$$

if

$$\sum_{k=1}^{\infty} \left(\frac{k(c+k)}{c+1}\right) a_k |z|^{k-1} \leq 1. \quad (7.8)$$

But by using Theorem 1, (7.8) will be true if

$$\left(\frac{k(c+k)}{c+1}\right) |z|^{k-1} \leq \left(\frac{k^{n+1} \{k - \alpha[1 + \lambda(k-1)]\}}{(1-\alpha)}\right) \quad (k \geq 2), \quad (7.9)$$

or if

$$|z| \leq \left(\frac{(c+1)k^n \{k - \alpha[1 + \lambda(k-1)]\}}{(c+k)(1-\alpha)}\right)^{\frac{1}{k-1}} \quad (k \geq 2). \quad (7.10)$$

Therefore  $f(z)$  is univalent in  $|z| < R^*$ . Sharpness follows if we take

$$f(z) = z - \frac{(c+k)(1-\alpha)}{k^n\{k-\alpha[1+\lambda(k-1)]\}(c+1)}z^k \quad (k \geq 2). \quad (7.11)$$

## 8. MODIFIED HADAMARD PRODUCTS

Let the functions  $f_j(z)$  ( $j = 1, 2$ ) be defined by (5.1). The modified Hadamard product of  $f_1(z)$  and  $f_2(z)$  is defined here by

$$(f_1 * f_2)(z) = z - \sum_{k=2}^{\infty} a_{k,1}a_{k,2}z^k = (f_2 * f_1)(z). \quad (8.1)$$

**Theorem 11.** Let the functions  $f_j(z)$  ( $j = 1, 2$ ) defined by (5.1) be in the class  $C_n(\lambda, \alpha)$ . Then  $(f_1 * f_2)(z) \in C_n(\lambda, \beta(n, \lambda, \alpha))$ , where

$$\beta(n, \lambda, \alpha) = 1 - \frac{(1-\lambda)(1-\alpha)^2}{2^{n+1}\{2-\alpha(1+\lambda)\}^2 - (1+\lambda)(1-\alpha)^2}. \quad (8.2)$$

The result is sharp for the functions  $f_j(z)$  ( $j = 1, 2$ ) given by

$$f_j(z) = z - \frac{1-\alpha}{2^{n+1}\{2-\alpha(1+\lambda)\}}z^2 \quad (z \in \mathbb{U}). \quad (8.3)$$

*Proof.* Employing the technique used earlier by Schild and Silverman [6], we need to find the largest  $\beta$  such that

$$\sum_{k=2}^{\infty} \frac{k^{n+1}\{k-\beta[1+\lambda(k-1)]\}}{1-\beta} a_{k,1}a_{k,2} \leq 1. \quad (8.4)$$

Since  $f_j(z) \in C_n(\lambda, \alpha)$  ( $j = 1, 2$ ), we readily see that

$$\sum_{k=2}^{\infty} \frac{k^{n+1}\{k-\alpha[1+\lambda(k-1)]\}}{1-\alpha} a_{k,1} \leq 1, \quad (8.5)$$

and

$$\sum_{k=2}^{\infty} \frac{k^{n+1}\{k-\alpha[1+\lambda(k-1)]\}}{1-\alpha} a_{k,2} \leq 1. \quad (8.6)$$

By the Cauchy Schwarz inequality, we have

$$\sum_{k=2}^{\infty} \frac{k^{n+1}\{k-\alpha[1+\lambda(k-1)]\}}{1-\alpha} \sqrt{a_{k,1}a_{k,2}} \leq 1. \quad (8.7)$$

Thus it is sufficient to show that

$$\frac{k^{n+1}\{k - \beta[1 + \lambda(k - 1)]\}}{1 - \beta} a_{k,1} a_{k,2} \leq \frac{k^{n+1}\{k - \alpha[1 + \lambda(k - 1)]\}}{1 - \alpha} \sqrt{a_{k,1} a_{k,2}} \quad (k \geq 2), \quad (8.8)$$

or, equivalently, that

$$\sqrt{a_{k,1} a_{k,2}} \leq \frac{(1 - \beta)\{k - \alpha[1 + \lambda(k - 1)]\}}{(1 - \alpha)\{k - \beta[1 + \lambda(k - 1)]\}} \quad (k \geq 2). \quad (8.9)$$

Hence, in light of the inequality (8.9), it is sufficient to prove that

$$\frac{1 - \alpha}{k^{n+1}\{k - \alpha[1 + \lambda(k - 1)]\}} \leq \frac{(1 - \beta)\{k - \alpha[1 + \lambda(k - 1)]\}}{(1 - \alpha)\{k - \beta[1 + \lambda(k - 1)]\}} \quad (k \geq 2). \quad (8.10)$$

It follows from (8.10) that

$$\beta \leq 1 - \frac{(k - 1)(1 - \lambda)(1 - \alpha)^2}{k^{n+1}\{k - \alpha[1 + \lambda(k - 1)]\}^2 - [1 + \lambda(k - 1)](1 - \alpha)^2} \quad (k \geq 2). \quad (8.11)$$

Now defining the function  $G(k)$  by

$$G(k) = 1 - \frac{(k - 1)(1 - \lambda)(1 - \alpha)^2}{k^{n+1}\{k - \alpha[1 + \lambda(k - 1)]\}^2 - [1 + \lambda(k - 1)](1 - \alpha)^2}, \quad (8.12)$$

we see that  $G(k)$  is an increasing function of  $k$  ( $k \geq 2$ ), letting  $k = 2$  in (8.12), we obtain

$$\beta \leq G(2) = 1 - \frac{(1 - \lambda)(1 - \alpha)^2}{2^{n+1}\{2 - \alpha(1 + \lambda)\}^2 - (1 + \lambda)(1 - \alpha)^2}, \quad (8.13)$$

which evidently completes the proof of Theorem 11.

**Corollary 1.** For  $f_1(z)$  and  $f_2(z)$  as in Theorem 11, the function

$$h(z) = z - \sum_{k=2}^{\infty} \sqrt{a_{k,1} a_{k,2}} z^k, \quad (8.14)$$

belongs to the class  $C_n(\lambda, \alpha)$ .

This result follows from the Cauchy-Schwarz inequality (8.7). It is sharp for the same functions as in Theorem 11.

**Theorem 12.** Let the functions  $f_j(z)$  ( $j = 1, 2$ ) defined by (5.1),  $f_1(z) \in C_n(\lambda, \alpha)$  and  $f_2(z) \in C_n(\lambda, \gamma)$ . Then  $(f_1 * f_2)(z) \in C_n(\lambda, \eta(n, \lambda, \alpha, \gamma))$ , where

$$\eta(n, \lambda, \alpha, \gamma) = 1 - \frac{(1-\lambda)(1-\alpha)(1-\gamma)}{2^{n+1}\{2-\alpha(1+\lambda)\}\{2-\gamma(1+\lambda)\}-(1+\lambda)(1-\alpha)(1-\gamma)}. \quad (8.15)$$

The result is best possible for the functions

$$f_1(z) = z - \frac{1-\alpha}{2^{n+1}\{2-\alpha(1+\lambda)\}}z^2, \quad (8.16)$$

and

$$f_2(z) = z - \frac{1-\gamma}{2^{n+1}\{2-\gamma(1+\lambda)\}}z^2. \quad (8.17)$$

*Proof.* Proceeding as in the proof of Theorem 11, we get

$$\eta(n, \lambda, \alpha, \gamma) \leq B(k) = 1 -$$

$$\frac{(k-1)(1-\lambda)(1-\alpha)(1-\gamma)}{k^{n+1}\{k-\alpha[1+\lambda(k-1)]\}\{k-\gamma[1+\lambda(k-1)]\}-[1+\lambda(k-1)](1-\alpha)(1-\gamma)} \quad (k \geq 2) \quad (8.18)$$

Since the function  $B(k)$  is an increasing function of  $k$  ( $k \geq 2$ ), setting  $k = 2$  in (8.18) we get

$$\eta(n, \lambda, \alpha, \gamma) \geq B(2) = 1 - \frac{(1-\lambda)(1-\alpha)(1-\gamma)}{2^{n+1}\{2-\alpha(1+\lambda)\}\{2-\gamma(1+\lambda)\}-(1+\lambda)(1-\alpha)(1-\gamma)}. \quad (8.19)$$

This completes the proof of Theorem 12.

**Corollary 9.** Let the functions  $f_j(z)$  ( $j = 1, 2, 3$ ) defined by (5.1) be in the class  $C_n(\lambda, \alpha)$ . Then  $(f_1 * f_2 * f_3)(z) \in C_n(\lambda, \zeta(n, \lambda, \alpha))$ , where

$$\zeta(n, \lambda, \alpha) = 1 - \frac{(1-\lambda)(1-\alpha)^3}{4^{n+1}\{2-\alpha(1+\lambda)\}^3 - (1+\lambda)(1-\alpha)^3}. \quad (8.20)$$

The result is sharp for the functions  $f_j(z)$  ( $j = 1, 2, 3$ ) given by (8.3).

*Proof.* From Theorem 11, we have  $(f_1 * f_2)(z) \in C_n(\lambda, \beta(n, \lambda, \alpha))$ , where  $\beta$  is given by (8.2). By using Theorem 12, we get  $(f_1 * f_2 * f_3)(z) \in C_n(\lambda, \zeta(n, \lambda, \alpha))$ , where

$$\zeta(n, \lambda, \alpha) = 1 - \frac{(1-\lambda)(1-\alpha)(1-\beta)}{2^{n+1}\{2-\alpha(1+\lambda)\}\{2-\beta(1+\lambda)\}-(1+\lambda)(1-\alpha)(1-\beta)} \quad (8.21)$$

$$= 1 - \frac{(1-\lambda)(1-\alpha)^3}{4^{n+1}\{2-\alpha(1+\lambda)\}^3 - (1+\lambda)(1-\alpha)^3}. \quad (8.22)$$

This completes the proof of corollary 9.

**Theorem 13.** Let the functions  $f_j(z)$  ( $j = 1, 2$ ) defined by (5.1) be in the class  $C_n(\lambda, \alpha)$ . Then the function

$$h(z) = z - \sum_{k=2}^{\infty} (a_{k,1}^2 + a_{k,2}^2) z^k \quad (8.23)$$

belong to the class  $C_n(\lambda, \phi(n, \lambda, \alpha))$ , where

$$\phi(n, \lambda, \alpha) = 1 - \frac{(1 - \lambda)(1 - \alpha)^2}{2^n \{2 - \alpha(1 + \lambda)\}^2 - (1 + \lambda)(1 - \alpha)^2}. \quad (8.24)$$

The result is sharp for the functions  $f_j(z)$  ( $j = 1, 2$ ) given by (8.3).

*Proof.* By virtue of Theorem 1, we obtain

$$\begin{aligned} \sum_{k=2}^{\infty} \left[ \frac{k^{n+1} \{k - \alpha[1 + \lambda(k - 1)]\}}{1 - \alpha} \right]^2 a_{k,1}^2 &\leq \\ \left[ \sum_{k=2}^{\infty} \frac{k^{n+1} \{k - \alpha[1 + \lambda(k - 1)]\}}{1 - \alpha} a_{k,1} \right]^2 &\leq 1, \end{aligned} \quad (8.25)$$

and

$$\begin{aligned} \sum_{k=2}^{\infty} \left[ \frac{k^{n+1} \{k - \alpha[1 + \lambda(k - 1)]\}}{1 - \alpha} \right]^2 a_{k,2}^2 &\leq \\ \left[ \sum_{k=2}^{\infty} \frac{k^{n+1} \{k - \alpha[1 + \lambda(k - 1)]\}}{1 - \alpha} a_{k,2} \right]^2 &\leq 1. \end{aligned} \quad (8.26)$$

It follows from (8.25) and (8.26) that

$$\sum_{k=2}^{\infty} \frac{1}{2} \left[ \frac{k^{n+1} \{k - \alpha[1 + \lambda(k - 1)]\}}{1 - \alpha} \right]^2 (a_{k,1}^2 + a_{k,2}^2) \leq 1. \quad (8.27)$$

Therefore, we need to find the largest  $\phi = \phi(n, \lambda, \alpha)$  such that

$$\begin{aligned} \frac{k^{n+1} \{k - \phi[1 + \lambda(k - 1)]\}}{1 - \phi} &\leq \\ \frac{1}{2} \left[ \frac{k^{n+1} \{k - \alpha[1 + \lambda(k - 1)]\}}{1 - \alpha} \right]^2 &(k \geq 2), \end{aligned} \quad (8.28)$$

that is,

$$\phi \leq 1 - \frac{2(k-1)(1-\lambda)(1-\alpha)^2}{k^{n+1}\{k-\alpha[1+\lambda(k-1)]\}^2 - 2[1+\lambda(k-1)](1-\alpha)^2} \quad (k \geq 2). \quad (8.29)$$

Since

$$D(k) = 1 - \frac{2(k-1)(1-\lambda)(1-\alpha)^2}{k^{n+1}\{k-\alpha[1+\lambda(k-1)]\}^2 - 2[1+\lambda(k-1)](1-\alpha)^2}, \quad (8.30)$$

is an increasing function of  $k(k \geq 2)$ , setting  $k = 2$  in (8.30) we get

$$\phi \leq D(2) = 1 - \frac{(1-\lambda)(1-\alpha)^2}{2^n\{2-\alpha(1+\lambda)\}^2 - (1+\lambda)(1-\alpha)^2}, \quad (8.31)$$

and Theorem 13 follows at once.

**Theorem 14.** Let the function  $f_1(z) = z - \sum_{k=2}^{\infty} a_{k,1}z^k$  ( $a_{k,1} \geq 0$ ) be in the class  $C_n(\lambda, \alpha)$  and  $f_2(z) = z - \sum_{k=2}^{\infty} |a_{k,2}|z^k$ , with  $|a_{k,2}| \leq 1$ ,  $k = 2, 3, \dots$ . Then  $(f_{1*}f_2)(z) \in C_n(\lambda, \alpha)$ .

*Proof.* Since

$$\begin{aligned} \sum_{k=2}^{\infty} k^{n+1}\{k-\alpha[1+\lambda(k-1)]\} |a_{k,1}a_{k,2}| &= \sum_{k=2}^{\infty} k^{n+1}\{k-\alpha[1+\lambda(k-1)]\} a_{k,1} |a_{k,2}| \\ &\leq \sum_{k=2}^{\infty} k^{n+1}\{k-\alpha[1+\lambda(k-1)]\} a_{k,1} \\ &\leq 1-\alpha, \end{aligned}$$

by Theorem 1, it follows that  $(f_{1*}f_2)(z) \in C_n(\lambda, \alpha)$ .

## 9. DEFINITIONS AND APPLICATIONS OF FRACTIONAL CALCULUS

Many essentially equivalent definitions of fractional calculus (that is, fractional derivatives and fractional integrals) have been given in the literature (cf., e.g. [2], [9] and [10]). We find it to be convenient to recall here the following definitions which were used recently by Owa [4] and by Srivastava and Owa [7].

**Definition 1.** The fractional integral of order  $\mu$  is defined, for a function  $f(z)$ , by

$$D_z^{-\mu}f(z) = \frac{1}{\Gamma(\mu)} \int_0^z \frac{f(t)}{(z-t)^{1-\mu}} dt \quad (\mu > 0), \quad (9.1)$$



where  $f(z)$  is an analytic function in a simply-connected region of the complex  $z$ -plane containing the origin and the multiplicity of  $(z - t)^{\mu-1}$  is removed by requiring  $\log(z - t)$  to be real when  $z - t > 0$ .

**Definition 2.** The fractional derivative of order  $\mu$  is defined, for a function  $f(z)$ , by

$$D_z^\mu f(z) = \frac{1}{\Gamma(1 - \mu)} \frac{d}{dz} \int_0^z \frac{f(t)}{(z - t)^\mu} dt \quad (0 \leq \mu < 1), \quad (9.2)$$

where  $f(z)$  is an analytic function in a simply-connected region of the complex  $z$ -plane containing the origin and the multiplicity of  $(z - t)^{-\mu}$  is removed by requiring  $\log(z - t)$  to be real when  $z - t > 0$ .

**Definition 3.** Under the hypotheses of definition 2, the fractional derivative of order  $n + \mu$  is defined by

$$D_z^{n+\mu} f(z) = \frac{d^n}{dz^n} D_z^\mu f(z) \quad (0 \leq \mu < 1; n \in \mathbb{N}_0). \quad (9.3)$$

**Theorem 15.** Let the function  $f(z)$  defined by (1.6) be in the class  $C_n(\lambda, \alpha)$ . Then we have and

$$|D_z^{-\mu}(D^i f(z))| \leq \frac{|z|^{1+\mu}}{\Gamma(2 + \mu)} \left\{ 1 + \frac{1 - \alpha}{2^{n-i}[2 - \alpha(1 + \lambda)](2 + \mu)} |z| \right\} \quad (9.4)$$

and

$$|D_z^{-\mu}(D^i f(z))| \geq \frac{|z|^{1+\mu}}{\Gamma(2 + \mu)} \left\{ 1 - \frac{1 - \alpha}{2^{n-i}[2 - \alpha(1 + \lambda)](2 + \mu)} |z| \right\}. \quad (9.5)$$

for  $\mu > 0$  and  $z \in \mathbb{U}$ . The result is sharp.

*Proof.* Note that  $f(z) \in C_n(\lambda, \alpha)$  if and only if  $D^i f(z) \in C_{n-i}(\lambda, \alpha)$ ,  $D^i f(z)$  is given by (4.4). Using Theorem 1, we know that

$$2^{n-i+1}[2 - \alpha(1 + \lambda)] \sum_{k=2}^{\infty} k^i a_k \leq \sum_{k=2}^{\infty} k^{n+1} \{k - \alpha[1 + \lambda(k - 1)]\} a_k \leq 1 - \alpha, \quad (9.6)$$

that is, that

$$\sum_{k=2}^{\infty} k^i a_k \leq \frac{1 - \alpha}{2^{n-i+1}[2 - \alpha(1 + \lambda)]}. \quad (9.7)$$

Let

$$F(z) = \Gamma(2 + \mu) z^{-\mu} D_z^{-\mu}(D^i f(z)) = z - \sum_{k=2}^{\infty} \frac{\Gamma(k + 1)\Gamma(2 + \mu)}{\Gamma(k + \mu + 1)} k^i a_k z^k. \quad (9.8)$$

Then

$$F(z) = z - \sum_{k=2}^{\infty} \Psi(k) k^i a_k z^k, \quad (9.9)$$

where

$$\Psi(k) = \frac{\Gamma(k+1)\Gamma(2+\mu)}{\Gamma(k+\mu+1)} \quad (k \geq 2). \quad (9.10)$$

Since  $\Psi(k)$  is an decreasing function of  $k$ , then

$$0 < \Psi(k) \leq \Psi(2) = \frac{2}{2+\mu} \quad (k \geq 2). \quad (9.11)$$

From (9.9) and (9.11), we have

$$|F(z)| \geq |z| - \Psi(2) |z|^2 \sum_{k=1}^{\infty} k^i a_k \quad (9.12)$$

$$\begin{aligned} |F(z)| &= |\Gamma(2+\mu)z^{-\mu}D_z^{-\mu}(D^i f(z))| \geq |z| - \Psi(2) |z|^2 \sum_{k=1}^{\infty} k^i a_k \\ &\geq |z| - \frac{1-\alpha}{2^{n-i}[2-\alpha(1+\lambda)](2+\mu)} |z|^2 \end{aligned} \quad (9.13)$$

and

$$\begin{aligned} |F(z)| &= |\Gamma(2+\mu)z^{-\mu}D_z^{-\mu}(D^i f(z))| \leq |z| + \Psi(2) |z|^2 \sum_{k=1}^{\infty} k^i a_k \\ &\leq |z| + \frac{1-\alpha}{2^{n-i}[2-\alpha(1+\lambda)](2+\mu)} |z|^2. \end{aligned} \quad (9.14)$$

which proves the inequalities of Theorem 15. Further equalities are attained for the function  $f(z)$  given by

$$D_z^{-\mu}(D^i f(z)) \geq \frac{z^{1+\mu}}{\Gamma(2+\mu)} \left\{ 1 - \frac{1-\alpha}{2^{n-i}[2-\alpha(1+\lambda)](2+\mu)} z \right\}, \quad (9.15)$$

or

$$D^i f(z) = z - \frac{1-\alpha}{2^{n-i}[2-\alpha(1+\lambda)]} z^2. \quad (9.16)$$

Using arguments similiar to those in the proof of Theorem 15, we obtain the following theorem.

**Theorem 16.** Let the function  $f(z)$  defined by (1.4) be in the class  $C_n(\lambda, \alpha)$ . Then we have

$$|D_z^\mu(D^i f(z))| \leq \frac{|z|^{1-\mu}}{\Gamma(2-\mu)} \left\{ 1 + \frac{1-\alpha}{2^{n-i}[2-\alpha(1+\lambda)](2-\mu)} |z| \right\} \quad (9.17)$$

and

$$|D_z^\mu(D^i f(z))| \geq \frac{|z|^{1-\mu}}{\Gamma(2-\mu)} \left\{ 1 - \frac{1-\alpha}{2^{n-i}[2-\alpha(1+\lambda)](2-\mu)} |z| \right\}. \quad (9.18)$$

for  $0 \leq \mu < 1$  and  $z \in \mathbb{U}$ . The result is sharp for the function  $f(z)$  given by (9.16).

**Remarks.**

- (1) Putting  $i = n = 0$  in Theorem 15, we obtain the result obtained by Altintas and Owa [1, Theorem 9];
- (2) Putting  $\mu = 0$  in Theorem 16, we obtain the result of Theorem 4;
- (3) Putting  $i = n = 0$  in Theorem 16, we obtain the results obtained by Altintas and Owa [1, Theorem 11];
- (4) Putting  $i = n = \mu = 0$  in Theorem 16, we obtain the results obtained by Altintas and Owa [1, Theorem 4, inequality (2.22)];
- (5) Putting  $n = \mu = 0$  and  $i = 1$  in Theorem 16, we obtain the results obtained by Altintas and Owa [1, Theorem 4, inequality (2.23)];
- (6) Putting  $\mu = 0$  and  $i = 0$  in Theorem 16, we obtain the result of Corollary 2;
- (7) Putting  $\mu = 0$  and  $i = 1$  in Theorem 16, we obtain the result of Corollary 3.

REFERENCES

- [1] O. Altintas, S. Owa, *On subclasses of univalent functions with negative coefficients*, Pusan Kyongnam Math. J. 4 (4) (1988), 41-46.
- [2] M. K. Aouf, *On fractional derivatives and fractional integrals of certain subclasses of starlike and convex functions*, Math. Japon. 35 (5) (1990), 831-837.
- [3] M. D. Hur, G. H. Oh, *On certain class of analytic functions with negative coefficients*, Pusan Kyongnam Math. J. 5 (1989), 69-80.
- [4] S. K. Lee, S. Owa, H. M. Srivastava, *Basic properties and characterizations of a certain class of analytic functions with negative coefficients*, Utilitas Math. 36 (1989), 121-128.
- [5] G. S. Sălăgean, *Subclasses of univalent functions*, Lecture Notes in Math., Springer-Verlag, 1013 (1983), 362-372.
- [6] A. Schild, H. Silverman, *Convolutions of univalent functions with negative coefficients*, Ann. Maria Curie-Sklodowska, Sect. A, 29 (1975), 109-116.

[7] T. Sekine, *On generalized class of analytic functions with negative coefficients*, Math. Japon. 36 (1) (1991), 13-19.

[8] H. Silverman, *Univalent functions with negative coefficients*, Proc. Amer. Math. Soc. 51 (1975), 109-116.

[9] H. M. Srivastava, S. Owa, *An application of the fractional derivative*, Math. Japon. 29 (1984), 383-389.

[10] H. M. Srivastava, S. Owa (Editors), *Univalent Functions, Fractional Calculus, and Their Applications*, Halsted press (Ellis Horwood Limited Chichester), John Wiley and Sons, New York, Chichester, Brisbane and Toronto, 1989.

M.K. Aouf, A.O. Mostafa and W.K. Elyamany  
Department of Mathematics, Faculty of Science,  
University of Mansoura,  
Mansoura, Egypt  
email: *mkaouf127@yahoo.com*  
email: *adelaeg254@yahoo.com*  
email: *wkelyamany@gmail.com*